

SOME REVERSE l_p -TYPE INEQUALITIES INVOLVING CERTAIN QUASI MONOTONE SEQUENCES

MIKHAIL K. POTAPOV, FATON M. BERISHA, NIMETE SH. BERISHA,
 AND RESHAD KADRIU

ABSTRACT. In this paper, we give some l_p -type inequalities about sequences satisfying certain quasi monotone type properties. As special cases, reverse l_p -type inequalities for non-negative decreasing sequences are obtained. The inequalities are closely related to Copson's and Leindler's inequalities, but the sign of the inequalities is reversed.

1. INTRODUCTION

For non-negative number sequences the following, classical inequalities of Hardy and Littlewood, are well known [3, p. 255, Th 346].

Let $\{b_\nu\}_{\nu=1}^\infty$ be a sequence of non-negative numbers, $\alpha > 0$, m and n positive integers such that $n < m$. The following inequalities hold true:

$$\sum_{\mu=n}^m \mu^{\alpha-1} \left(\sum_{\nu=\mu}^m b_\nu \right)^p \leq C \sum_{\mu=n}^m \mu^{\alpha-1} (\mu b_\mu)^p, \quad (1.1)$$

$$\sum_{\mu=n}^m \mu^{-\alpha-1} \left(\sum_{\nu=n}^\mu b_\nu \right)^p \leq C \sum_{\mu=n}^m \mu^{-\alpha-1} (\mu b_\mu)^p \quad (1.2)$$

for $p \geq 1$; and

$$\sum_{\mu=n}^m \mu^{\alpha-1} \left(\sum_{\nu=\mu}^m b_\nu \right)^p \geq C \sum_{\mu=n}^m \mu^{\alpha-1} (\mu b_\mu)^p, \quad (1.3)$$

$$\sum_{\mu=n}^m \mu^{-\alpha-1} \left(\sum_{\nu=n}^\mu b_\nu \right)^p \geq C \sum_{\mu=n}^m \mu^{-\alpha-1} (\mu b_\mu)^p \quad (1.4)$$

for $0 < p \leq 1$, where positive constant C depends only on numbers α and p , and does not depend on integers m , n , and the sequence $\{b_\nu\}_{\nu=1}^\infty$.

Closely related to these inequalities are classical Copson inequalities [1], Leindler's inequalities [5, 6, 7], and those proved or used in [8, 9, 10, 2].

In the paper we prove some related inequalities which involve non-negative sequences satisfying certain monotone-type properties. As special cases, inequalities converse to (1.1), (1.2), (1.3) and (1.4) for the case of non-negative monotone decreasing number sequences are deduced.

In order to prove the inequalities we need the following

Theorem 1.1. *Let $\{b_\nu\}_{\nu=1}^\infty$ be a sequence of non-negative numbers, $0 < \alpha < \beta$, m and n positive integers such that $n < m$. Then the following inequality holds*

$$\left(\sum_{\mu=n}^m b_\mu^\beta \right)^{1/\beta} \leq \left(\sum_{\mu=n}^m b_\mu^\alpha \right)^{1/\alpha}.$$

1991 *Mathematics Subject Classification.* Primary 47A30, Secondary 26D15.

Key words and phrases. l_p -type, Copson, Leindler, inequalities, quasi, lacunary, geometrically, monotone sequences.

The proof of the theorem is due to Jensen [3, p. 28, Th. 19].

We call a number sequence $\{a_\nu\}_{\nu=1}^\infty$ non-negative monotone decreasing (or increasing), and denote it by $a_\nu \downarrow$ (or $a_\nu \uparrow$), if for each positive integer ν the following conditions are satisfied

- (1) $a_\nu \geq 0$,
- (2) $a_{\nu+1} \leq a_\nu$ (or $a_{\nu+1} \geq a_\nu$, respectively).

We call a number sequence $\{\lambda_\nu\}_{\nu=1}^\infty$ quasi lacunary monotone if it is a non-negative monotone sequence (i.e., $\lambda_\nu \downarrow$ or $\lambda_\nu \uparrow$) and there are positive constants K_1 and K_2 such that for each positive integer ν the following condition is satisfied

$$K_1 \lambda_{2^\nu} \leq \lambda_{2^{\nu+1}} \leq K_2 \lambda_{2^\nu}.$$

Finally, we call a non-negative number sequence $\{\lambda_\mu\}_{\mu=1}^\infty$ quasi geometrically increasing if there is a positive constant K such that for each positive integer m the following condition is satisfied

$$\sum_{\mu=1}^m \lambda_\mu \leq K \lambda_m.$$

2. INEQUALITIES FOR QUASI MONOTONE SEQUENCES

In this section we give several reverse inequalities of l_p -type involving non-negative decreasing sequences, quasi lacunary monotone sequences or quasi geometrically increasing sequences.

Theorem 2.1. *Let a sequence $\{a_\nu\}_{\nu=1}^\infty$ be such that $a_\nu \downarrow$, $\{\lambda_\mu\}_{\mu=1}^\infty$ and $\{\gamma_\nu\}_{\nu=1}^\infty$ be lacunary monotone sequences, m and n positive integers such that $m \geq 16n$. If $p \geq 1$, then the following inequality holds*

$$\sum_{\mu=n}^m \lambda_\mu \left(\sum_{\nu=n}^{\mu} a_\nu \gamma_\nu \right)^p \geq C \sum_{\mu=4n}^m \lambda_\mu (\mu a_\mu \gamma_\mu)^p. \quad (2.1)$$

If, in addition, $\{2^\mu \lambda_{2^\mu}\}_{\mu=1}^\infty$ is a quasi geometrically increasing sequence, then the following inequality holds

$$\sum_{\mu=n}^m \lambda_\mu \left(\sum_{\nu=\mu}^{\mu} a_\nu \gamma_\nu \right)^p \geq C \sum_{\mu=8n}^m \lambda_\mu (\mu a_\mu \gamma_\mu)^p. \quad (2.2)$$

Here and later on C and C_i will denote positive constants depending only on p and the sequences $\{\lambda_\mu\}_{\mu=1}^\infty$ and $\{\gamma_\nu\}_{\nu=1}^\infty$, and not depending on m , n and the sequence $\{a_\nu\}_{\nu=1}^\infty$.

Theorem 2.2. *Let a sequence $\{a_\nu\}_{\nu=1}^\infty$ be such that $a_\nu \downarrow$, $\{\lambda_\mu\}_{\mu=1}^\infty$ and $\{\gamma_\nu\}_{\nu=1}^\infty$ be lacunary monotone sequences, m and n positive integers such that $m \geq 4n$. If $0 < p \leq 1$, then the following inequality holds*

$$\sum_{\mu=4n}^m \lambda_\mu \left(\sum_{\nu=4n}^{\mu} a_\nu \gamma_\nu \right)^p \leq C \sum_{\mu=n}^m \lambda_\mu (\mu a_\mu \gamma_\mu)^p. \quad (2.3)$$

If, in addition, $\{2^\mu \lambda_{2^\mu}\}_{\mu=1}^\infty$ is a quasi geometrically increasing sequence, then the following inequality holds

$$\sum_{\mu=4n}^m \lambda_\mu \left(\sum_{\nu=\mu}^{\mu} a_\nu \gamma_\nu \right)^p \leq C \sum_{\mu=n}^m \lambda_\mu (\mu a_\mu \gamma_\mu)^p. \quad (2.4)$$

3. PROOF OF THEOREM 2.1

We prove inequality (2.2). For given n and m we choose positive integers N and M such that $2^{N-1} < n \leq 2^N$ and $2^M \leq m < 2^{M+1}$. Then the following inequality holds

$$I = \sum_{\mu=n}^m \lambda_{\mu} \left(\sum_{\nu=\mu}^m a_{\nu} \gamma_{\nu} \right)^p \geq \sum_{\mu=2^N}^{2^M} \lambda_{\mu} \left(\sum_{\nu=\mu}^{2^M} a_{\nu} \gamma_{\nu} \right)^p.$$

By splitting the first sum into blocks of length 2^i , we obtain

$$I \geq \sum_{i=N+1}^M \sum_{\mu=2^{i-1}+1}^{2^i} \lambda_{\mu} \left(\sum_{\nu=\mu}^{2^M} a_{\nu} \gamma_{\nu} \right)^p.$$

By bounding the third sum from below, taking into account that $\{\lambda_{\mu}\}_{\mu=1}^{\infty}$ is a quasi lacunary monotone sequence, we have

$$I \geq \sum_{i=N+1}^M \left(\sum_{\nu=2^i}^{2^M} a_{\nu} \gamma_{\nu} \right)^p \sum_{\mu=2^{i-1}+1}^{2^i} \lambda_{\mu} \geq C_1 \sum_{i=N+1}^M 2^{i-1} \lambda_{2^{i-1}} \left(\sum_{\nu=2^i}^{2^M} a_{\nu} \gamma_{\nu} \right)^p,$$

where C_1 depends only on the sequence $\{\lambda_{\mu}\}_{\mu=1}^{\infty}$. Now, we split the second sum into blocks of length 2^{i-1} , remove the terms with index $i = M$, and taking into consideration that $a_{\nu} \downarrow$ and $\{\lambda_{\mu}\}_{\mu=1}^{\infty}, \{\gamma_{\nu}\}_{\nu=1}^{\infty}$ are lacunary monotone sequences, we get

$$I \geq C_2 \sum_{i=N+1}^{M-1} 2^i \lambda_{2^i} \left(\sum_{j=i}^{M-1} a_{2^{j+1}} \sum_{\nu=2^j+1}^{2^{j+1}} \gamma_{\nu} \right)^p \geq C_3 \sum_{i=N+1}^{M-1} 2^i \lambda_{2^i} \left(\sum_{j=i}^{M-1} a_{2^{j+1}} 2^j \gamma_{2^j} \right)^p.$$

By applying Theorem 1.1 to this inequality taking into account that $1 \leq p$, then changing the order of summation, we have

$$\begin{aligned} I &\geq C_3 \sum_{i=N+1}^{M-1} 2^i \lambda_{2^i} \sum_{j=i}^{M-1} a_{2^{j+1}}^p 2^{jp} \gamma_{2^j}^p \geq C_3 \sum_{j=N+1}^{M-1} a_{2^{j+1}}^p 2^{jp} \gamma_{2^j}^p \sum_{i=N+1}^j 2^i \lambda_{2^i} \\ &\geq C_3 \sum_{j=N+1}^{M-1} a_{2^{j+1}}^p 2^{j(p+1)} \gamma_{2^j}^p \lambda_{2^j}. \end{aligned}$$

Since $a_{\nu} \downarrow$, taking into consideration that $\{\gamma_{\nu}\}_{\nu=1}^{\infty}$ and $\{\lambda_{\mu}\}_{\mu=1}^{\infty}$ are quasi lacunary monotone and quasi geometrically increasing sequences, respectively, we obtain

$$I \geq C_4 \sum_{j=N+1}^{M-1} \sum_{\mu=2^{j+1}+1}^{2^{j+2}} a_{\mu}^p \gamma_{\mu}^p \mu^p \lambda_{\mu}.$$

We rewrite the above inequality in the form

$$I \geq C_4 \sum_{\mu=2^{N+2}+1}^{2^{M+1}} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p,$$

and since $2^{N+2} < 8n$, we obtain

$$I \geq C_4 \sum_{\mu=8n}^n \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p.$$

Thus, we have proved inequality (2.2) assuming that $N+1 \leq M-1$. In fact, for $m \geq 16n$ we get $2^{N-1} < n \leq \frac{m}{16} \leq 2^{M-3}$, yielding that the condition $N+1 \leq M-1$ is satisfied.

In order to prove inequality (2.1), put

$$J = \sum_{\mu=n}^m \lambda_{\mu} \left(\sum_{\nu=n}^{\mu} a_{\nu} \gamma_{\nu} \right)^p,$$

in a similar manner, but by making use of the fact that $\{\lambda_{\mu}\}_{\mu=1}^{\infty}$ is solely a quasi lacunary monotone sequence (i.e. without a quasi geometrically increasing sequence assumption), we obtain

$$J \geq C_5 \sum_{\mu=2^{N+1}}^{2^M-1} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p.$$

Thus

$$\sum_{\mu=2^{N+1}}^{2^M-1} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p \leq C_6 J. \quad (3.1)$$

Since $a_{\nu} \downarrow$ and $\{\lambda_{\mu}\}_{\mu=1}^{\infty}, \{\gamma_{\nu}\}_{\nu=1}^{\infty}$ are lacunary monotone sequences, we have

$$J_1 = \sum_{\mu=2^M}^{2^{M+1}} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p \leq a_{2^M}^p \sum_{\mu=2^M}^{2^{M+1}} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p \leq C_7 \sum_{\mu=2^{M-1}}^{2^M-1} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p.$$

Hence, for $N+1 \leq M-1$ we obtain

$$J_1 \leq C_7 \sum_{\mu=2^{N+1}}^{2^M-1} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p.$$

Thus, inequality (3.1) yields

$$J_1 \leq C_8 J;$$

or

$$\sum_{\mu=2^M}^{2^{M+1}} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p \leq C_8 J. \quad (3.2)$$

Adding inequalities (3.1) and (3.2) together, we obtain

$$\sum_{\mu=2^{N+1}}^{2^{M+1}} \lambda_{\mu} (\mu a_{\mu} \gamma_{\mu})^p \leq C_9 \sum_{\mu=n}^m \lambda_{\mu} \left(\sum_{\nu=n}^{\mu} a_{\nu} \gamma_{\nu} \right)^p.$$

Since $2^{N+1} \leq 4n$, $2^{M+1} > m$, the above inequality implies the inequality (2.1). This completes the proof of Theorem 2.1.

4. PROOF OF THEOREM 2.2

We prove the inequality (2.4). Let positive integers N and M be defined by the inequalities $2^{N-1} < n \leq 2^N$ and $2^M \leq m < 2^{M+1}$. This yields

$$\begin{aligned} I &= \sum_{\mu=4n}^m \lambda_{\mu} \left(\sum_{\nu=\mu}^m a_{\nu} \gamma_{\nu} \right)^p \leq \sum_{\mu=2^{N+1}+1}^{2^{M+1}} \lambda_{\mu} \left(\sum_{\nu=\mu}^{2^{M+1}} a_{\nu} \gamma_{\nu} \right)^p \\ &= \sum_{i=N+1}^M \sum_{\mu=2^i+1}^{2^{i+1}} \lambda_{\mu} \left(\sum_{\nu=\mu}^{2^{M+1}} a_{\nu} \gamma_{\nu} \right)^p. \end{aligned}$$

By bounding the third sum from above, taking into account that $\{\lambda_\mu\}_{\mu=1}^\infty$ is a quasi lacunary monotone sequence, we get

$$I \leq \sum_{i=N+1}^M \left(\sum_{\nu=2^i+1}^{2^{M+1}} a_\nu \gamma_\nu \right)^p \sum_{\mu=2^i+1}^{2^{i+1}} \lambda_\mu \leq C_1 \sum_{i=N+1}^M 2^i \lambda_{2^i} \left(\sum_{\nu=2^i+1}^{2^{M+1}} a_\nu \gamma_\nu \right)^p,$$

where positive constant C_1 depends only on the sequence $\{\lambda_\mu\}_{\mu=1}^\infty$. Now, we split the second sum into blocks of length 2^j and taking into consideration the fact that $a_\nu \downarrow$, and $\{\gamma_\nu\}_{\nu=1}^\infty$ is a lacunary monotone sequences, we have

$$I \leq C_1 \sum_{i=N+1}^M 2^i \lambda_{2^i} \left(\sum_{j=i}^M a_{2^j} \sum_{\nu=2^j+1}^{2^{j+1}} \gamma_\nu \right)^p \leq C_2 \sum_{i=N+1}^M 2^i \lambda_{2^i} \left(\sum_{j=i}^M a_{2^j} 2^j \gamma_{2^j} \right)^p.$$

By applying Theorem 1.1 and then changing the order of summation, we obtain

$$I \leq C_2 \sum_{i=N+1}^M 2^i \lambda_{2^i} \sum_{j=i}^M a_{2^j}^p 2^{jp} \gamma_{2^j}^p \leq C_2 \sum_{j=N+1}^M a_{2^j}^p 2^{jp} \gamma_{2^j}^p \sum_{i=N+1}^j 2^i \lambda_{2^i}.$$

Further, the fact that $\{\lambda_\mu\}_{\mu=1}^\infty$ is a quasi geometrically increasing sequence yields

$$I \leq C_3 \sum_{j=N+1}^M a_{2^j}^p 2^{jp} \gamma_{2^j}^p 2^j \lambda_{2^j}.$$

Since $a_\nu \downarrow$, taking into consideration that $\{\gamma_\nu\}_{\nu=1}^\infty$ and $\{\lambda_\mu\}_{\mu=1}^\infty$ are quasi lacunary monotone sequences, we get

$$a_{2^j}^p 2^{j(p+1)} \gamma_{2^j}^p \lambda_{2^j} \leq C_4 \sum_{\mu=2^{j-1}+1}^{2^j} a_\mu^p \gamma_\mu^p \mu^p \lambda_\mu.$$

Therefore,

$$I \leq C_5 \sum_{j=N+1}^M \sum_{\mu=2^{j-1}+1}^{2^j} \lambda_\mu (\mu a_\mu \gamma_\mu)^p = C_5 \sum_{\mu=2^N+1}^{2^M} \lambda_\mu (\mu a_\mu \gamma_\mu)^p.$$

where positive constant C_5 does not depend on N and M . Since $2^M \leq m$ and $2^N + 1 > m$, we obtain

$$I \leq C_5 \sum_{\mu=n}^m \lambda_\mu (\mu a_\mu \gamma_\mu)^p,$$

which proves inequality (2.4).

Inequality (2.3) can be proved in an analogous way, but without a quasi geometrically increasing assumption for the sequence $\{2^\mu \lambda_{2^\mu}\}_{\mu=1}^\infty$.

5. INEQUALITIES FOR NON-NEGATIVE DECREASING SEQUENCES

For $\alpha, \lambda \in \mathbb{R}$ put

$$\begin{aligned} \lambda_\mu &= \mu^{\alpha-1} \quad (\mu = 1, 2, \dots), \\ \gamma_\nu &= \nu^\lambda \quad (\nu = 1, 2, \dots). \end{aligned}$$

Obviously, the obtained sequences $\{\mu^{\alpha-1}\}_{\mu=1}^\infty$ and $\{\nu^\lambda\}_{\nu=1}^\infty$ are both quasi lacunary monotone sequences.

If, in addition, $\alpha > 0$, then $\{2^\mu 2^{\mu(\alpha-1)}\}_{\mu=1}^\infty$ is a quasi geometrically increasing sequence.

By applying Theorems 2.1 and 2.2 for such sequences $\{\lambda_\mu\}_{\mu=1}^\infty$ and $\{\gamma_\nu\}_{\nu=1}^\infty$, we deduce the following l_p -type inequalities for non-negative decreasing sequences, which are converse to inequalities (1.1), (1.2), (1.3) and (1.4).

Theorem 5.1. *Let a sequence $\{a_\nu\}_{\nu=1}^\infty$ be such that $a_\nu \downarrow$, and $\alpha > 0$, $\lambda \in \mathbb{R}$, m and n positive integers such that $m \geq 16n$. If $p \geq 1$, then the following inequalities hold*

$$\begin{aligned} \sum_{\mu=n}^m \mu^{\alpha-1} \left(\sum_{\nu=\mu}^m a_\nu \nu^\lambda \right)^p &\geq C \sum_{\mu=8n}^m \mu^{\alpha-1} (a_\mu \mu^{\lambda+1})^p, \\ \sum_{\mu=n}^m \mu^{-\alpha-1} \left(\sum_{\nu=n}^\mu a_\nu \nu^\lambda \right)^p &\geq C \sum_{\mu=4n}^m \mu^{-\alpha-1} (a_\mu \mu^{\lambda+1})^p. \end{aligned}$$

Hereafter C denotes positive constant depending only on α , λ and p , and not depending on m , n and the sequence $\{a_\nu\}_{\nu=1}^\infty$.

Theorem 5.2. *Let a sequence $\{a_\nu\}_{\nu=1}^\infty$ be such that $a_\nu \downarrow$, and $\alpha > 0$, $\lambda \in \mathbb{R}$, m and n positive integers such that $m \geq 4n$. If $0 < p \leq 1$, then the following inequalities hold*

$$\begin{aligned} \sum_{\mu=4n}^m \mu^{\alpha-1} \left(\sum_{\nu=\mu}^m a_\nu \nu^\lambda \right)^p &\leq C \sum_{\mu=n}^m \mu^{\alpha-1} (a_\mu \mu^{\lambda+1})^p, \\ \sum_{\mu=4n}^m \mu^{-\alpha-1} \left(\sum_{\nu=4n}^\mu a_\nu \nu^\lambda \right)^p &\leq C \sum_{\mu=n}^m \mu^{-\alpha-1} (a_\mu \mu^{\lambda+1})^p. \end{aligned}$$

Note that Theorems 5.1 and 5.2 given above imply several inequalities proved earlier [3, 4, 11].

Namely the following Corollaries are simple consequences of these theorems and the inequalities (1.1), (1.2), (1.3) and (1.4).

Corollary 5.1. *Let a sequence $\{a_\nu\}_{\nu=1}^\infty$ be such that $a_\nu \downarrow$, $\alpha > 0$, $\lambda \in \mathbb{R}$, and n a positive integer. If $p > 0$, then the following inequalities hold*

$$\begin{aligned} \sum_{\mu=1}^n \mu^{\alpha-1} \left(\sum_{\nu=\mu}^n a_\nu \nu^\lambda \right)^p &\geq C \sum_{\mu=1}^n \mu^{\alpha-1} (a_\mu \mu^{\lambda+1})^p, \\ \sum_{\mu=1}^n \mu^{-\alpha-1} \left(\sum_{\nu=1}^\mu a_\nu \nu^\lambda \right)^p &\geq C \sum_{\mu=1}^n \mu^{-\alpha-1} (a_\mu \mu^{\lambda+1})^p. \end{aligned}$$

Corollary 5.2. *Let a sequence $\{a_\nu\}_{\nu=1}^\infty$ be such that $a_\nu \downarrow$, $\alpha > 0$, $\lambda \in \mathbb{R}$, and n a positive integer. If $p \geq 1$, then the following asymptotic equivalences hold*

$$\begin{aligned} \sum_{\mu=1}^n \mu^{\alpha-1} \left(\sum_{\nu=\mu}^n a_\nu \nu^\lambda \right)^p &\asymp \sum_{\mu=1}^n \mu^{\alpha-1} (a_\mu \mu^{\lambda+1})^p, \\ \sum_{\mu=1}^n \mu^{-\alpha-1} \left(\sum_{\nu=1}^\mu a_\nu \nu^\lambda \right)^p &\asymp \sum_{\mu=1}^n \mu^{-\alpha-1} (a_\mu \mu^{\lambda+1})^p. \end{aligned}$$

ACKNOWLEDGEMENT

The authors would like to thank the referee of the paper for providing insightful comments which have contributed substantially to the overall quality of the article.

REFERENCES

- [1] E. T. Copson. Note on Series of Positive Terms. *J. London Math. Soc.*, S1-3(1):49, 1928.
- [2] P. Gao. On l^p norms of factorable matrices. *ArXiv e-prints*, January 2013, 1301.3262.
- [3] G. H. Hardy, J. E. Littlewood, and G. Pólya. *Inequalities*. Cambridge Mathematical Library. Cambridge University Press, Cambridge, 1988. Reprint of the 1952 edition.
- [4] A. A. Konyushkov. Best approximations by trigonometric polynomials and fourier coefficients. *Mat. Sb. N.S.*, 44(3):53–84, 1958. (Russian).

- [5] L. Leindler. Über verschiedene Konvergenzarten trigonometrischer Reihen. III. Bedingungen in der Metrik von L^p . *Acta Sci. Math. (Szeged)*, 27:205–215, 1966.
- [6] L. Leindler. Generalization of inequalities of Hardy and Littlewood. *Acta Sci. Math. (Szeged)*, 31:279–285, 1970.
- [7] L. Leindler. Power-monotone sequences and Fourier series with positive coefficients. *JIPAM. J. Inequal. Pure Appl. Math.*, 1(1):Article 1, 10, 2000.
- [8] M. K. Potapov. A certain imbedding theorem. *Mathematica (Cluj)*, 14(37):123–146, 1972.
- [9] M. K. Potapov and M. Q. Berisha. Moduli of smoothness and the Fourier coefficients of periodic functions of one variable. *Publ. Inst. Math. (Beograd) (N.S.)*, 26(40):215–228, 1979.
- [10] M. K. Potapov, B. V. Simonov, and S. Yu. Tikhonov. Mixed moduli of smoothness in L_p , $1 < p < \infty$: a survey. *Surv. Approx. Theory*, 8:1–57, 2013.
- [11] T. M. Vukolova. Some properties of trigonometric series with monotonic coefficients. *Vestnik Moskov. Univ. Ser. I Mat. Mekh.*, (6):18–23, 110, 1984.

MIKHAIL K. POTAPOV, DEPARTMENT OF MECHANICS AND MATHEMATICS, MOSCOW STATE UNIVERSITY, MOSCOW 117234, RUSSIA
E-mail address: `mkpotapov@mail.ru`

FATON M. BERISHA, FACULTY OF MATHEMATICS AND SCIENCES, UNIVERSITY OF PRISHTINA, NËNA TEREZË 5, 10000 PRISHTINA, KOSOVO
E-mail address: `fatton.berisha@uni-pr.edu`

NIMETE SH. BERISHA, FACULTY OF ECONOMICS, UNIVERSITY OF PRISHTINA
E-mail address: `nimete.berisha@gmail.com`

RESHAD KADRIU, COLLEGE "BUSINESS", PRISHTINA